P24

FEIRE11

(1)

59>

(E1~5)

éb“ HTEi’C L\% = Eyes are fat. > have a good eye for

*BBZT W3 = <plain-style-nonpast-affirmative> of B2 T L&Y = be fat

“EZEY = grow fat, gain weight

* [te- form] W& 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>/
K b\% good thing /

%Z <direct-object partlcle>/

H IR

RENTWT = Elff’h’( W%, LT, = become used to seeing and ..
* %l?’lh’( L\ % = <plain-style-nonpast-affirmative> of Elﬁ'fh’( L& 9 = become used to
seelng
* Elfhi? g2 = become used to seeing, be familiar with
* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
Z%OJ fﬁfﬂ% = worth (value) of a thing /
HY = <direct-object particle> of oHhD £
P H % = <plain-style-nonpast-affirmative> of 1oH D 9 g1 = understand /
— You get used to see a good thing and know the value of a thing /
HB<HDH =warmth /
HIcTchy % U = warm feeling /

At
R4 = sensitivity, sensitiveness, sense /

bh hiz

B U 75 = how to feel /

=M<

#1% = standard, norm, model, average /
EUvhA

£ ¥ = standard, model, criterion; norm /

iacon
HE M = inferior goods /

;HEEE’C“ = (X) is crude (rough, plain, humble, poor) and ....

* ‘[stem of i-adjective] < T, [stem of na-adjective] ¢, [noun] T’ is used to join the sentences
which end ‘[adjective / noun] desu’ or to join adjectives. /

"275\ E ) H D =the thing whose quality is bad

— the thing which has rough and poor quality
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|& <topic particle> /

FE%? = best in the world /

%75“ BT W3, = Eyes are fat. — have a good eye for

*BBZT W3 = <plain-style-nonpast-affirmative> of B2 T L&Y = be fat

“EXET = grow fat, gain weight

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
EWS ;.:i = the word which is ~

*(X) EWWD (Y) = (Y) called (X), (Y) named (X), (Y) which is (X) (It is used to supplement the

contents of some noun. In ‘(X) to iu (Y)’, (X) illustrates (Y) concretely.) /
IC <existence particle> /

|& <topic particle> /

250 ;ﬂﬁk = two meanings /

¥ <subject particle> /

% 5. = <plain-style-nonpast-affirmative> of & D £9 g1 = there is ~, have ~, exist //

There are two meanings in the word which is ‘Japanese consumers have a best eye for things
in the world’.

Zn

21 = the first (one)

|& <topic particle>

%qf U . .

KEBE° BR7R & = a function, a taste, etc /

\ <direction particle>/

@ <possession particle> /

;véwv?ubmh

%jz JK#E = the standard of a request (a demand) /

mb\ hight, expensive /

Z &, = <plain-style-nonpast-affirmative> of Z & T9, = (X) is that ~

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). //

The first meaning is that their (the Japanese) standards of request for an function, a taste, etc is
very high.

fEWnic

252|c = secondly, in the second place /

|& <topic particle> /

Jbé'b\ 7% = a few, a little /

1@— an injury, a wound / a defect, a flaw, a crack, a chip /

EfFé 7%\ = don't forgive = <plain-style-nonpast-negative> of %%'-’ L ¥9 g1 (forgive, allow,

permit) /
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2 & =etc., and the like /

%7‘:% = appearance /

“\ <direction particle>/

@ <possession particle> /

ZIEPH D 2 = <plain-style-nonpast-affirmative> of Z7210 D TY = (X) is obsession (fixation,

hangup, determination, fastidiousness, pickiness about (trait, style, etc.)), be particular about ...,
be stick to ..... /

The second meaning is that they (the Japanese) are particular about (are stick to) appearance
such as they don'’t allow even a small defect (flaw, damage).

JHEZE = consumer /
(& <top|c particle> /
?ﬁ% D Z 121D =the latter obsession (fixation, hangup, determination, fastidiousness,

pickiness about (trait, style, etc.)) /
% <direct-object particle> /

ER EX
=T DD 3 % = <plain-style-nonpast-affirmative> of 5T D2 3% D ¥ = gradually throw
away N2 No.98
EX
* & TE 9 g2 =throw away, cast aside, dump, abandon, jettison //

Consumers are throwing away the latter (C 7210 D = to be particular about, to stick to) gradually.

Z N 7Tl =in that situation, well then ... /

l\J\J;5UlJ1‘>
‘HEE = consumer /

|& <topic particle> /

RRCTRES

&4 = unwillingly, reluctantly /
EERI2

8% = a defective article /

tc_ <reC|p|ent partlcle>/

E’a? r"_lH E’a? F]H’C E% F']H%o % b’C\ = turn one’s eyes towards and ......

* F'] 75 = <pla|n style-nonpast-affirmative> of r"_IH X9 g2 =face, go towards, turn toward /
?ﬂzlzb‘c %zlx‘é"éo Z LT, =tolerate and .....

NE A

* F 189 % = <plain-style-nonpast-affirmative> of ?izl*m L &9 g3 = endure, abide, tolerate; brook
* b&ﬁh patience, endurance, perseverance, self- control/
Eo T W35 = <plain-style-nonpast-affirmative> of E > T L\& 9 = be buying now

Eb\i? g1 = buy

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /
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M N, = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of {{na-adjective / noun] da’
becomes ‘na’.)] D TI Ho =...... , | wonder? — @ can be changed to A.

if that is the case, (then,) so consumers turn their eyes towards ‘a defective article’ unwillingly,
tolerate it, and buy it?

N5

3L H = not always, not necessarily
Z D TIE7R LY = <plain-style-nonpast-affirmative> of €5 Ti& & D ¥ A = (X) is not so

It is not always like that.

Wb £50h

KElmP %Eﬁfokt = clothing (articles of clothing), furniture, etc /
C <particle which shows the place where the action takes place.>/
\& <topic particle>/

B5w>5Z0ALU L&SOLP ES L Z5DhA

e R e Y SMBERT 0 i = secondhand goods market (used articles market), an

exchange, give-and-take between (among) consumers /
Y <subject particle> /
h

h
B% A 2= <plain-style-nonpast-affirmative> of B A T9, = (X) is prosperous (popular). /

Regarding clothing, furniture, etc, secondhand goods market and give-and-take between
consumers are popular.

Wb £ 5

ﬁﬂ%? by means of reuse (recycling) /
/)'JZ'O H>T =M%, 2LT. =decrease and .....
/)EEZD = <plain-style-nonpast-affirmative> of UESE g1 = decrease /
ﬁi%éi;%: environment /
[C/
H =also/
LWL\, = <plain-style-nonpast-affirmative> of L\LY T9J, = (X) is good //

Rubbish will decrease by recycling and it is also good for environment.

L&SV0A  ET
P ®D 5 = the scratches (defects) of goods (merchandise, commodity, ware, article of

commerce, goods, stock) /
H =also/
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%ﬁ@ 1%)5%%0) < H b =the warmth of the previous user /

& <quotation particle> /

72 RI|T = positively /

EBHZD %‘T& = the sensitivity which (X) grasp

* &5 X % = <plain-style-nonpast-affirmative> of & 5 X %9 g2 = T%B Z X9 (seize, grasp,
capture, arrest) or ﬁii’é‘ (perceive, catch sight of, grasp) /

E\:\U)\t% 33’7& = with making young people a center (a core, a hub), among young people
who are the core people of the activity N2 No.15/

ZFE?U“? T L3 = <plain-style-nonpast-affirmative> of ?Eb“v T WX =be spreading now

* ?E?b“ N £9 g1 = spread, extend; lengthen; stretch; widen, enlarge; get around; unfold

* [te-form] LWE 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

The sensitivity which you positively perceive the defects of goods as the warmth of the pervious
user has spread among young people (they are the core people who think this way).

= H AW D5 KRD
RN D EIEY) = crops (farm products, agricultural produce) which is out of a standard /

b =also/ ]

1&? L% = <plain-style-nonpast-affirmative> of 1&? LWE 9 =look like, be like, resemble
* 1&&@“ sg2 = look like, be like, resemble

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> //

Farm products which are out of a standard are also like that.

CHIT 2B 1E9 D H D = the thing which is sure to become rubbish /

* 78 % = <plain-style-nonpast-affirmative> of 7& D £9 g1 = become

* [stem of i-adjective] < 7% D £ ; [na-adjective] IC & D X I = become [adjective]
* [noun] IC 7& D ¥ 9 =become [noun]

* [plain-style (but, ‘da’ of [na-adjective] da’ and ‘[noun] da’ becomes ‘na’ and ‘no’ respectively)]
[£9° T = (X) must be ~, (X) is sure to ~, (X) ought to ~, (X) is expected to /

%’: <direct-object particle> /

;z < = cheaply /

ﬁb\\ = ﬁo'& = ﬁvo ZUL7T. =use and .....

* ﬁ') = <plain-style-nonpast-affirmative> of ﬁb\i@“ gl =use/

Ioay—¢& %’E% = ecology and economizing (saving, thrift) /

% <direct-object particle> /

D&E>50HD

MIZIEES I & =to make ~ compatible, making ~ compatible
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D&50D
* WAL &% = <plain-style-nonpast-affirmative> of MjiZ & & & 9 (make ~ compatible) which is
D&50HD

the causative-verb of MiZ U 9 g3 = be compatible, coexist, reconcile

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
IC <existence particle> /

%ﬁr’% =D {ﬁfﬂ% = the positive (to face the front) worth (value) /

%Z <direct-object particle> /

%L\Ti‘ LT W3 = <plain-style-nonpast-affirmative> of %L\Tr‘_‘ LT WX =be finding out now,
be discovering now, be detecting now

* %L\fc“ L £ 9 g1 = find out, discover

* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

...... D TIE &L A, = <plain-style-nonpast-affirmative> of ....D T HHXEAD. = ...,
don’t you think so? ; ...., | want to confirm with you. //

They find out the positive worth in the fact that they buy the thing which is sure to become
rubbish cheaply, and make ecology and economy compatible, don’t you think so?

5 #>3 P wn
ARV 78 BFSZ = uneven (irregular, odd) vegetables — unsorted vegetable /

|& <topic particle> /
© U % =rather/
T oK Oh
F1ED & = handmade articles /
%i <direct-object particle>
5£50L &

,ubtJ:é P = a strong point (a good point, a merit, an advantage) which make (a person)
think

* Bt =<plain- style nonpast-affirmative> of ,ub’@fij (make (a person) think) which is

the causative-verb of ,b\b\iﬁ“ g1 (think) //

| would rather say that an unsorted vegetable is a good point which makes us think that it is
handmade.

L&S0UL»
HEED *ﬁfc_ VAN ﬁﬂif Eﬁ, = new senses of values of consumers /

\C <arrival particle> /

%15% = a business, an enterprise, a company, a corporation, a firm /

Y <subject particle> /

&>% < =atlast, finally /

i%_b\?b\T = /oo =began to catch up with, began to overtake = <plain-style-past-affirmative>
of fé_b\j LW =X (begin to catch up with, begin to overtake) /

o)
*BWLWDE X = catch up with, overtake
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* [te-form] & X9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with
the past tense,) have been doing ... so far //

Companies finally have begun to catch up with new senses of values of consumers.

Lb&S

M5 = the market /

¥ <subject particle> /

(6=}

LEhE. = if (X) spread = conditional-form of F“?b\ N ¥9 g1 (spread, extend; lengthen;
stretch; widen, enlarge; get around; unfold) /

%z #» { VDA 30D &SVA

HE S AR = inferior goods, a defective article, a flawed article /

HY <subject particle> /

TED

Hi[o] % = <plain-style-nonpast-affirmative> of .':l:'.IEI N ¥39 g1 = appear, be in season, be
everywhere /

ﬂ%?@u oo

ABEME = possibility /

Y <subject particle> /

feh feh

=X b, = <plain-style-nonpast-affirmative> of X D ¥9 g1 = get higher, heighten, rise //

If the market becomes bigger, there is a hight possibility that defective articles, inferior goods,
etc. appear on the market.

R =why/
vy Py
Z U\ D D\, = <plain-style-nonpast-affirmative> of ZLN DT H, =Is (X) cheap, | wonder?

* D M. = <plain-style-nonpast-affirmative> of [plain-style (but, ‘da’ of ‘{na-adjective / noun] da
becomes ‘na’.)] D TIH% =...... , | wonder? — @ can be changed to A. //

Why are they cheap?

[FAS5WL

RKED {ﬂﬂ = original (primary) worth (value) /

Lat <topic particle> /

ERHNT LWL = be not spoilt = <plain-style-nonpast-nagative> of Bhbnt WET (b (be
sp0|lt)

* Tﬁ&bhi@“ be spoilt, be ruined, be hurt, be marred = passive-verb of }57& WET g1

(spoil, ruin, hurt, mar)
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action>

H\ <question particle> //
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Isn’t an original value spoilt?

O

EX3e] BEICA
3D FF = responsibility of a company /

|& <topic particle> /
BH BH
B\, = <plain-style-nonpast-affirmative> of &L\ T9, = (X) is heavy //

Companies own great responsibilities.

JHE# = consumer /
IC <recipient particle>/
H =also/
r%}; LW éj = strict eyes /
% <direct-object particle> /
=5 A & = properly, regularly, exactly /
oz =to hold, holding /
* ]%’3 = <plain-style-nonpast-affirmative> of ?%E &9 g1 =hold, possess, carry /
EE&D 515 = <plain-style-nonpast-affirmative> of %%675 511F 9 which is the passive-verb (be
requested, be asked, be demanded, be looked for, be sought) or the potential-verb (can
request, can ask, can demand, can look for, can seek) of é}%&)i? g2 = request, ask, demand ,

look for, seek //

Having proper ‘strict eyes’ are requested to consumers as well.

=3 /\,HL\:SL\ LARA

HARR A #E = Japanese economy newspaper /

[CBAZ® SRARENDICUY SRRICEDS

2009 £8 B 27 HfT =the date of the 27th of August, 2009 /
L& 5hA

EHH]IC & %= by morning edition (paper) /

P25

(160

Wt A <5 Wt A <5
BIET & R = BLETE BE/RT = compared with the past (before), in comparison with the past

(before) N2 No.6 (similar expression) /

Lo
HEE
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|& <topic particle> /

ES D & SIC =in what way, how /

3%:}3 > fz = changed = <plain-style-past-affirmative> of ;)7{10 N &9 g1 (change) /
H <question particle> //

How did consumers change in comparison with what they used to be?

c

&S0 DS

Piﬁu':n’ula) REE° EZEE = functions, tastes, etc of goods /

% <direct-object particle>/

%%ﬁ L &< 7&>7c. = have reached the point where (X) don’t attach greater importance =
<plain-style-past-affimative> of %%ﬁ LU 7&< 72D £ (reach the point where (X) don’t attach
greater importance)

* %;ﬁi L &9 g3 = attach greater importance (to), place much emphasis (on)

* [dictionary-form] & S IC 7& D ¥ 9 = reach the point where (X) do ~

* [nai-form 78U\ — 72 <] 7% D £9 = reach the point where (X) don’t do ~ //

They (Consumers) have reached the point where they don’t attach greater importance to
functions and tastes of goods.

They (Consumers) don’t attach greater importance to functions and tastes of goods now
(although they use to do so before.)

N

L&SDA E DS

Emd HEEE ZIl]iil% = functions, tastes, etc of goods /

% <direct-object particle> /

%%ﬁbﬁ'% £DIC B2l = have reached the point where (X) attach greater importance =
<plain-style-past-affimative> of %;ﬁ?% &K DI & D £F (reach the point where (X) attach
greater importance)

* %;ﬁ L &9 g3 = attach greater importance (to), place much emphasis (on)

* [dictionary-form] & S (T 7& D &9 = reach the point where (X) do ~ //

They (Consumers) have reached the point where they attach greater importance to functions
and tastes of goods.
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L&S0A

D {%733: = scratches (defects) of goods, etc /

dD <possession particle>/

%7‘: é = appearance /

% <direct-object particle> /

’%LC L7 < 7& > 7c = have reached the point where (X) don’t care (mind, worry) = <plain-style-
past-affirmative> of ’7%62 L7&< 78D ¥ (reach the point where (X) don’t care (mind, worry))

* ’7%6: L &9 g3 = care, mind, worry /

* [dictionary-form] & 3 IC 7& D F¥9 = reach the point where (X) do ~

* [nai-form &L\ — 72 <] 7& D ¥9 = reach the point where (X) don’t do ~ //

They (Consumers) have reached the point where they don’t care about the appearance such as
defects of goods, etc.

They (Consumers) don’t care about the appearance such as defects of goods, etc. now
(although they use to do so before.)

~

c

&S0 EEl

% n‘:ﬁ/é) 15 73?: = scratches (defects) of goods, etc /

@D <possession particle> /

%7‘: é = appearance /

%Z <direct-object particle> /

£ T 9% &5IC 1@>o7zs =have reached the point where (X) care (mind, worry) = <plain-
style-past-affimative> of ’%L: 935 KDIT 72D XT (reach the point where (X) care (mind,
worry))

* ’7%6: U &9 g3 = care, mind, worry

* [dictionary-form] & S (T 7& D &9 = reach the point where (X) do ~ //

They (Consumers) have reached the point where they care about the appearance such as
defects of goods, etc.

161
OoUL»
# = author/
I <t oplc particle> /
L&SOUL L\b% N b

ﬁ%%d) B D Z1t = changes of consciousnesses of consumers /
%Z <direct-object particle> /
ED K SIT =in what way, how /

& 5 Z7T W3 = <plain-style-nonpast-affirmative> of &5 2T L X J = be catching now
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* &5 Z XTI g2 = catch, seize, capture, grasp
* [te-form] L E 9 =1 be doing now 2 <situation, state> 3 <habitual repeated action> /

M <question particle> //

How does the author grasp (the meaning of) the change of consumers’ consciousnesses?

b <H5L/
bj = quality /
Y <subject particle> /
%7‘3“3 TH. =-evenif (X)fall,
* %73“ N £9 g1 = hang down; fall; abate; retire; step back
* [te form] H =even if ~/
ZIL\ (&5 L\ = <plain-style-nonpast-affirmative> of ;tb\ IE 2D LWWTT = had better be

cheap, ; the cheaper, the better /

& <quotation particle> /

%\Jbz_% £2I 73 > fco = have reached the point where (X) consider = <plain-style-past-
affirmative> of %z_é K DIT 1&D XTI (reach the pomt where (X) consider)

* %737‘_% <plain-style-nonpast-affirmative> of %zi@“ g2 = consider, think over

* [dictionary-form] & 3 [C 7& D F¥9 = reach the point where (X) do ~ //

Even if the quality lowers a little, they (consumers) have reached the point where they think that
the cheaper it is, the better it is.

SEwS53FTVUA

5(13“% %Y 7K#E = the standard of a request towards things /

7aN <subject particle> /
%75“3’( = Th'olce LT, =felland ....
* Th¥o 1z = fell = <plain-style-nonpast-affirmative> of %75“ N F£ 9 g1 (hang down; fall; abate;
retire; step back) /
ED %ZEE?: %t =towards any goods, towards no matter which goods they are /
{%ﬂ% = value, worth /
aniébé & DT 7& o fc = have reached the where (X) admit = <plain-style-past-affirmative> of
W&D% &£ DIT 72D £ (reach the point where (X) admit)

wdbé <plain-style-nonpast-affirmative> of .m&b &9 g2 = admit, recognize
* * [dictionary-form] & 5 IC 72 D £9 = reach the point where (X) do ~ //
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The standard of a request towards goods became lower, and they (consumers) have reached
the point where they admit the value for any goods.

fcb&>

%/ = a little, some /

%;{L = problem, question /

& > TH =even if there is ~, even if (X) have ~

* %D XY g1 =there is ~, have ~, exist

* [te-form] © = evenif ~/

i%%j@ e ® I = because of environment, for the purpose of environment, for the sake of
environment /

%ii'l‘;%?% [E 5 L\ = <plain-style-nonpast-affirmative> of b&lé?‘ % [EF5H WWTT = had
better endure/

* %zi’l‘;%?% = <plain-style-nonpast-affirmative> of b(‘i'lé L ¥9 g3 = endure, abide, tolerate; brook
* [ta-form] (Z5HY WLWWT T = had better do ~ /

& <quotation particle> /

i,\j & DI I& o7z =have reached the point where (X) think = <plain-style-past-affirmative>
of ,L\,\D & 2IC & D F¥F =reach the point where (X) think

okS)
* S = <plain-style-nonpast-affirmative> of ,ub\iﬁ' g1 = think /

Even if there are some problems, they (consumers) have reached the point where thy think that
they had better endure (tolerate) it for the sake of environment.

(AFS

SET F'nﬁé?b\ Hd & ,L,\ibt’Lt H M = the thing which was thought that there was a problem so
far &
* 375%) <plain-style-nonpast-affirmative> of %0 £9 g1 = there is ~, have ~, exist
/ubnt = was thought <plain-style-past-affirmative> of Ub#’bi@“ (be thought) which is
the passive-verb of Umi@“ g1 (think) /
IC <existence particle> /
E also/
1_9 o tﬂﬁt = different value
3E - fz = differed = <plain-style-past-affirmative> of Eb\i‘é’ differ, be different, be wrong,

be mistaken /
Y <subject particle> /
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&% % = <plain-style-nonpast-affirmative> of 3% D &£3 g1 = there is ~, have ~, exist /

%: <quotation particle> /

%\5 £ DI I& o7z =have reached the point where (X) think = <plain-style-past-affirmative>
of%‘B & 31T 78D £ =reach the point where (X) think

k) BH
* B 5 = <plain-style-nonpast-affirmative> of B\ & 9 g1 = think /

They (consumers) have reached the point where they think that_ the thing which they thought
that there was a problem so far has a different value. &

(162

&

IBEWLWDUL\T =7z = began to catch up with, began to overtake = <plain-style-past-affirmative> of
ko)

BWDWT ZX Y (begin to catch up with, begin to overtake) /

ES)
“EWDE XY = catch up with, overtake
* [te-form] & &E 9 = 1. go there to do .... and will be back 2. start to do, begin to do 3. (with

the past tense,) have been doing ... so far /
& <quotation particle> /

& % = <plain-style-nonpast-affirmative> of % D ¥ 9 g1 =there is ~, have ~ exist /

A, =but,/

%13% = enterprise, company, business /

H¥ <subject particle> /

E S =how

7% > T &z = started to become = <plain-style-past-affirmative> of 72 > T X 9 =start to

become
* 72D ¥9 g1 =become

* * [te-form] X 9 =1. go there to do .... and will be back 2. start to do, begin to do 3. (with

the past tense,) have been doing ... so far /
H\ <question particle> //

There is began to catch up with in the passage, how did companies start to change?

H &
R /-H = appearance /
/

Z e 57 < 7k > Tz = have reached the point where (X) is not particular about = <plain-style-

1

past-affirmative> of Z 7210 57x< 7D £ I =reach point where (X) is not particular about
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Z 121D £9 g1 = be particular about, stick to, be obsessive
* [dictionary-form] & 3 IC 7& D ¥ 9 = reach the point where (X) do ~
* [nai-form &L\ — 715 <] 7% D £ 9 = reach the point where (X) don’t do ~

They (Companies) have reached the point where they don’t care appearance.

7‘3;2?53;5 BEICA &b

RIBA O HEED E X = heaviness of responsibility towards environment /
% <direct-object particle> /

7f)/u (=¥}

A (=49
BU B = stated to feel = <plain-style-past-affirmative> of ' U 8 £ 9 (star to feel)
* [masu-form] &ﬁy)i@“ g2 = start to do ~ /

They (Companies) started to feel heavy responsibility to environment.

=D B LW = strict eyes of consumers /
%Z <direct-object particle> /

% b

B9 % & DIT 4oz = have reached the point where (X) sense = <plain-style-past-
wu =

affirmative> of i 9% & DIC &0 £ (reach the point where (X) sense)

Wi & wu =

* B9 % = <plain-style-nonpast-affirmative> of 2 U £ 9 g3 = sense, apprehend,

understand, be conscious
* [dictionary-form] & S [T 7& D &9 = reach the point where (X) do ~ //

They (Companies) have reached the point where they sense strict (severe) eyes of consumers.

N

L&SVLP % b = N kD
HEED B#ED x’“ﬁ = the changes of consciousnesses of consumers /

%Z <direct-object particle> /

< J%EtY% & DI & o fc = have reached the point where (X) dip up = <plain-style-past-
affirmative> of < J%E):Y% &SI 1D £9 =reach the point where (X) dip up

* < J%Ea% = <plain-style-nonpast-affirmative> of < &Ety N F9 g1 =dip up, ladle out, pump out
* [dictionary-form] & S [T 7& D £ 9 = reach the point where (X) do ~ //
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They (Companies) have reached the point where they understand the changes of
consciousnesses of consumers.
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